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Analysis and approaches SL
Number and algebra
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GEOMETRIC SERIES

CONVERGES
For

—-1<c<)

RATIoNAL EXPoNENTS

EQUATIONS
e.s (%)X: q3&+|
(3-|) — (3:.)

x+|

eg.
log 2% = log 8 + log 3

log; 2 = 10910 —log, 4
log, 3% = Slog, 3

n
F 0 s o ()=

_ logs 125
= Togo25 =

MORE EXfoNENTIAL
AND LOGARITHM

LAWS OF LOGS

losu_x 4+ \03“3 = \03613
\03&1 - \03“3 = (03‘;%
\OS“JC“ = V\\od._x

3, b 6 g ‘
CoNSTANT TERM = qcs (x)(F) = P i—,: l4x3°= 61,236 ) |

BINOMIAL
THEOREM
nezZ*

5 \ 2 \
eq (x-2) = (X +5 () +10 632 + O (DD + 5 (-2 2y
= - 10+ 40>3- 80 x>+ 90x - 32

LHS

PASCAL'S TRIANGLE

SHOW TRAT oy +

= m(m+1)

‘e International Baccalaureate
Baccalauréat International
. Bachillerato Internacional

Finp THE
CoNSTANT
TerM

mim
| |
M+l mi4m
| \
M+ | + m(m+1)
m+|

2
m

IDENTITY
X(x+) = x+x
True FoR ALL XX
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Analysis and approaches SL
Functions
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ONE-To-ONE
4 F—' EXISTS
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y=x y=3=* y=3x2
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Analysis and approaches SL
Geometry and trigonometry

2sin 2 = 3¢coS % 4 0$x<I80°
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SINE RULE
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Sin CAB = 0.645
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Analysis and approaches SL
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A IS INDEPENDENT OF B
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Calculus
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NEXT To A RWER USING 120m
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FIND THE ]
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> y=120-2x
AREA= XY= x(tzo-Zz)
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3'2’. SIY\Z

dx
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=0

AND CHANGES SIGN PrODUCT RULE
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D= e*
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4’()703\@/
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..

Jeos x dx = sinx+¢C

REVERSE CHAIN RULE

@.AC{ x> oxtta
~~ )

2 \ 3x+2
X J’e?:u dx =5 ve

Jcos(Zx-l)dx = 'Isin (ax-)+¢

SHADED AREA
= f:x“+3 dx
- [3234,

=(5+9-(5+9
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éé: X COS X+ 2x.Sinx
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i P o= AcceLERARTION
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= P =e*

D PO=% ey y= Sinx_ A\
z'.

fD)=sinx = ()= cosx
$)=csx = P =-sinx

VELOC\TY

=jvd}.= 10-12+7 = 5m
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ENCLOSED BETWEEN

Two CURVES

J =sin(x?) => d‘:’ 2"‘ Cos("\,z)

d!- x?. CoS X — 2X-SinX%

% de

AREA = j: |$6)-36)] ax
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$G)= x*-Sx Ao 3=

CURVES INTERSECT WHEN ()= 9()
GOC > z--l.?ﬁ\ O, 2.9

1;-:2\. =J'ZVN|(X'_S ) (1k)|dl

GdC = 15.08 umts?




